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[
175 | —#% | Bk LR EEFERR I R 33 B LR AR R% %iif 15,934 9,303 4,872 9,534 6,951 46,594
[
=7 e 3 = AT 3 Sz S
176 [ —M% | sk ‘%&ﬁmﬂmﬁ$% IR 2 TR TaEk B BE - B A& Eﬁ 21,640 0 0 0 7,731 29,371
{bfiiE% TR
177 | —fk | K8 |HOE B S sl s R AR S RIEELE T %iif 0 0 0 0 642 642
[
178 | —ix | &0 [(ER Rk B KiEE M2 TX L= 600 W=5.0 %iif 0 5,500 10,001 9,459 600 25,560
[
- — R T = ==
179 | —f | A ;g%rﬁwm&ﬁ?% RN | i AN il 0 0 ol 25890 ol 25,890
EE R
180 | —f% | & /s m2e il A fl 3 %iif 3,002 2,171 952 165 56 6,346
[
181 | HBI | Ak | A& DR LAl 2 (FRMTAY ) LB 8L 5,038 fi_;% 31,699 142,095 122,777 112,502 110,264 519,337
e Y 3 HESE S ST R . N Stz S
182 | —fi | &hk iﬁ%rﬁwm&’gﬂg% PR NETVT | = gt il 0 0 0 0 34,301 34,301
bl R
183 | —% | Sdsk |ARkAK bt 55 i A Bh = 23 %if 35,989 35,663 29,724 31,804 19,464 152,644
184 | —f% | 38k |7 o — R R EAR s S A H 4 ADSL¥ (i %iifi 0 0 0 157,500 0 157,500
[
185 | — % | Ao | s {7 i 5 MR s 2 CATVZ %iif 1,355 4,137 0 0 0 5,492
[
186 | —% | 238k | A OFa LAt i Bh 35 24 (I8 A\ 3R &) R 1,027 %if 47,045 0 0 0 0 47,045
187 | —i% | &l MR EFMERE R EF ¥ 1,100%% — 0 0 0 3,276 13,969 17,245
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188 | —fik | Ak [ERKIEMMHBIFE Ai5E 1.=2,000 W= 5.0 ggﬁ 8,462 5,549 6,095 6,600 5,213 31,919
189 | —fix | Ak %#%é%%ﬁéﬁ% R 1) 5 ggﬁ 0 0 0 9,277 77,118 86,395
190 | —f% | &tk | B U2 fiksh R 23 et 7% ggﬁ 0 0 0 0 17,143 17,245
191 | —fk | 2% g —ffERE ggﬁ 0 0 0 3,694 0 31,919
192 | —f% | & |HEEEEHEE 2 KRR ggﬁ 0 0 0 3,091 3,953 86,395
193 | —f% | &l |12 IE A\ A E T 2 — % 164,538 166,648 158,466 228,072 230,042| 947,766
194 | —fk | 23K |iEiHEFE ggﬁ 58,207 60,291 49,999 82,737| 121,741 372,975
195 | —f% | Al |HE PRSI i 3 2 ggﬁ 0 60,469 0 0 0 60,469
196 | #5510 | Al | 5 AKGE RO 3 2 NERERTATEYG BENRE —f% 0 0 0 0 5,145 5,145
197 | —f% | Al [ M BRS B AR L i T 25 H18:71% H19:76% ggﬁ 0 54,662 19,826 17,313 0 91,801
198 | —% | Ak ?&2@?5% AEER SR RIS O TR | 2 30 wei3.0 %fi 0 0| 189,930 3,800 42,381 236,111
199 | —f | A | T7IE - EARE SN B pli g 3 — % 13,527 14,211 14,296 14,608 14,647 71,289
200 [ —f% | 44k [28E@RICH — R AT 2Bt Bh B 25 — i 0 0 3,040 2,646 315 6,001
201 [ —f% | IR [ERETR G R FE SRR L= 690 W=5.0 ggﬁ 0 7,516 8,999 22,800 43,300 82,615
202 | A3 | PRI | RS A A A ggﬁ 0 24,000 32,133 112,800 45,000 213,933
203 [ —f% | R [EERETR G R FE A L=1,350 W=5.0 ggﬁ 0 36,286 45,500 54,800 36,800 173,386
204 [ —f% | IR [ERETRG R FE (IR (R R) |L= 200 W=4.0 ggﬁ 0 3,821 0 0 0 3,821
205 [ —f% | IR [[EREHREGEFE KoM L= 30 W=5.0 ggﬁ 0 53,872 0 0 0 53,872
206 [ Bl [ IR (AL TAGEREREE RIRHX X 936.5ha %fi 555,424|  707,903|  558,235| 670,813 403,096 2,895,471
207 | — | PRI EBETRR R SE LN FnEIRR L= 600 W=5.0 ggﬁ 0 0 0 9,870 14,200 24,070
208 [ —f% | FEJR [#BThErm e IR R L X [ 2.2ha ggﬁ 0 0 0 0 2,982 2,982
209 [ —f% | IR [EEETR G R FE I TR L= 490 W=5.0 ggﬁ 0 4,275 18,478 47,300 46,600| 116,653
210 | Bl | FEJR |68 5 KB KSR PEIE S 3 BIEHEX ggﬁ 0 0 0 2,414 45,041 47,455
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211 —f& | FER fgﬁﬁ%@%?i%% AR - H TR S EWZRt — % 0 0 0 0 2,919 2,919
212 [ Feil | IR (R R KRR F2E S BRFH 13577 A0 362 A ggﬁ 0 330 0 0 0 330
213 [ el | IR (R KRR 2 (NP X (AL 1,069 AH 4,310A ggﬁ 1,005,371 1,093,398 437,984 0 0| 2,536,753
214 | A3 | FEJR | BAKEPEIR S 3 /N E L ggﬁ 0 0 0 0 33,600 33,600
215 | A3 | FEJR | BAKEPEAR S 3 T ggﬁ 0 0 0 40,590 15,369 55,959
216 | A3 | FER | EAKEPEIRSE 3 NP HIEX ggﬁ 0 0 0 32,110 20,929 53,039
217 | —fk | IR (ERGEEHFEAES TRHIX ggﬁ 31,147 25,710 26,530 10,276 8,070 101,733
218 [ —fik | IR [[EERFR G REFE KHERDHER) L= 176 W= 4.0 ggﬁ 9,985 0 0 0 0 9,985
219 [ —fk | IR [ERETRS R FE IEGEERR (LHIX) |L= 200 W=5.0 ggﬁ 6,152 24,203 0 0 0 30,355
220 [ —f% | IR [EERETR G EFE JIF R L= 300 W=5.0 ggﬁ 3,381 28,184 0 0 0 31,565
221 | —i% | IR PREEREBRIAOK IR ER MBI R FE |V M — L TRV T % ggﬁ 0 0 0 0 4,305 4,305
222 | —f% | R [(EMRETRG R FE B ST L= 680 W=4.0 ggﬁ 26,865 25,580 18,100 0 0 70,545
223 [ =Mk | R [(EBRETR G R FE AU L= 400 W= 5.0 ggﬁ 0 12,542 31,100 25,200 0 68,842
224 [ —f% | R [ERETRR SR FE B E PIR L= 600 W=5.0 ggﬁ 29,491 17,991 22,600 13,500 0 83,582
225 [ —f% | IR [[ERATRGEFE HTEAHR 1=1,220 W= 4.0 ggﬁ 33,104 33,390 23,800 18,600 0] 108,894
226 [ —fk | IR [EERETR G R FE RS L= 100 W=5.0 ggﬁ 59,127 0 0 0 0 59,127
227 [ —f | IR [EBETR G R FE IR L= 657 W=4.0 ggﬁ 33,558 0 0 0 0 33,558
228 | —f | IR [ERETRSCRFE JIEGEERR (FHIX) |L=1,100 W=5.0 ggﬁ 39,085 0 0 0 0 39,085
229 | —fk | R |HEAEEEEEE LORFEE ggﬁ 578 0 0 0 0 578
230 [ —f% | IR [ERETR G R FE IR R E R 1=1,870 W= 5.0 ggﬁ 31,725 12,108 9,100 0 0 52,933
231 [ —fk | IR [EREHR G R FE LIRKER L= 250 W=5.0 ggﬁ 13,065 7,988 0 0 0 21,053
232 [ =ik | IR [ AREMEE LEREG AR GE1H) ggﬁ 579,327 292,826 0 0 0] 872,153
233 [ —fk | IR [ AREHEE LEREAR ggﬁ 5,148 0 0 0 0 5,148
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o| |&F o= EE 3 N
7w | =
sl X5 ikt BRE FRNE 1 TR T4 RSN | TR SR BN | TR0 R | TR0 R | TR FREEE kil
234 | —f% | EJR FERIRR R EE &) L= 800 W=5.0(fGR4ETe) %%ﬁ 17,258 0 16,900 42,000 44,273 120,431
Ty HE A B R H A4S m/ |, _ A SE
235 e | R pais 5 L= 379 W=13.0 i 2,475 1,588 3,541 7,462 9,939 25,005
236 | —i% | FER [T E B Gr . T PR L= 313 W=3.5~5.0 %1;% 19,636 0 0 0 0 19,636
[5)
KLY - B D/ MR R 3
237 | —f% | IR ﬁgﬁ” FOARDRG IR O/ MER L= 650 W=2.0~12.0 %1;% 0 0 1,684 8,998 52,140 62,822
[5)
4 T
238 | —fz | megm Qgﬁfﬁﬂj B H O TEADERAR CBL || _ 479 \w=s5.0 %1;% 9,540 0 0 ol 12623] 22,163
a D
239 | —f% | EJR |t ZE N R ERX FENMGEE 424 %%ﬁ 3,800 0 0 1,791 17,598 23,189
240 | —% | FEJR ERRETRR RS E REETAR 1.=1,300 W=5.0 %1;% 0 0 0 0 14,088 14,088
[5)
241 —f& | BB a2 TiE LB AR L= 216 W=4.0 %1;% 1,652 0 0 0 0 1,652
[5)
242 | —f% | FEJR |#RTHRHEE BB R O TR L= 40 W=13.0 %%ﬁ 0 0 0 45,750 13,020 58,770
243 [ —f | R (#BHFHEA R EE RIRUEL X EEER R A % 0 0 14,711 0 0 14,711
= S o % Jfe Sz
244 | —fx | IR EET”*EEE& Bl ARTHTERR (1 L= 230 W=6.0~8.4 %1;% 21,374 0 0 0 0 21,374
a D
Ty AR ENE B AR AR 21|, 0 PG
245 W | ER (8 R R | ) L= 260 W=6.0~7.0 i 0 0 3,203 18,900 0 22,103
246 | —f% | IR [(ERHR G RFE ALk 1.=550 w=4.0 %1;% 0 0 0 0 9,991 9,991
[5)
VANESEd 3, % \ I\ Sz
047 | —a | e AR EE LA AR (o) Eg 0 0 0 0 0415 9 415
6.3ha TR
248 | —fk | B | BB A AR HE %1;% 0 0 0 0 3,591 3,591
[5)
249 | —f% | FEIR |ATE s R X AT K E SR %%ﬁ 0 0 0 8,365 0 8,365
250 | —f% | FEIR [T AR ERALAR e 7% B - %1;% 0 0 0 0 11,172 11,172
[5)
251 | il | FEJR | AT AALERMR S B2 EJR X iR B - (s %1;% 0 0 0 0 14,897 14,897
[5)
FH eI D . e S
252 | Heni | g%gﬁ{%ﬁmﬂﬁm)‘gﬁg% AHE e %1;% 0 0 0 0 4,300 4,300
B D
253 | —f% | Vakk |FERBASEEE O L=50 W=4.0 %1;% 0 0 0 0 8,888 8,888
[5)
254 | KRR | VESR | S KEE I EZE P %%ﬁ 0 0 0 1,050 14,565 15,615
255 | —f% | VOkk |FER AR R EE IR L= 600 W=5.0 %%ﬁ 0 0 0 0 15,350 15,350
256 | —f% | POkk FERIEXEEE AR L= 200 W=4.0 %%ﬁ 0 0 0 0 4,094 4,094
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257 | —M% | VR |EIRETRR RS P AT 1.=3,300 W= 5.0 ggﬁ 28,300 14,872 3,659 32,400 87,646
268 | —fk | VYK [EBHTRGEFE =R L= 150 W=4.0 ggﬁ 0 0 0 0 5,500
259 | —% | PSR | KR G S A KR L= 447 W=0.9 ggﬁ 8,625 0 0 0 8,625
260 [ —f% | vy [EEETR G FE R E/ DR L= 1,100 W=5.0 ggﬁ 0 0 0 14,400 26,790
261 [ —f% | vy [ERETR G R FE PEPRARR L= 650 W=4.0 ggﬁ 5,819 28,409 8,100 0 42,328
262 [ —f% | vy [(ERETR G R FE LR L= 521 W=8.0 ggﬁ 36,900 15,104 0 0 52,004
263 [ —fk | vEuk [ EERETREEFE NEAHR L= 706 W=5.0 ggﬁ 29,700 0 0 0 29,700
264 [ —f% | vy (EIRGEEHFEAES VERHIX ggﬁ 20,860 18,856 9,240 3,870 57,206
265 [ —f% | vEoR [EERETREG R FE WRER L=500 W=5.0 ggﬁ 0 0 0 5,255 5,255
266 [ —fk | PEYE [EBRETRGCRFE PR 1Y L= 400 W=17.0 ggﬁ 8,500 0 3,500 0 12,000
267 [ —f | PG [THATHOE BOER S E PEIROCF 2] [L=110 W=17.0 ggﬁ 0 416 0 80,112 87,827
268 [ —fk | vy [(EERETRE R FE B L= 615 W=5.0 ggﬁ 30,000 50,000 18,800 0 98,800
269 [ —f% | vy (SR ERE TEOM L= 390 W= 3.0 ggﬁ 4,095 2,356 0 0 6,451
270 | FERll | VESR |G KEEEEE KEHIX ggﬁ 1,470 0 0 0 1,470
271 [ — & | Voo [(ERETR G R FE 2R L= 40 W=4.0 ggﬁ 0 18,333 0 0 21,433
272 | —f% | VES |ERRETRR B S e L= 400 W= 5.0 ggﬁ 37,900 19,159 9,100 0 66,159
273 | — | VAR [ATEAQIE AN AR R Tt 2% IN ggﬁ 0 0 0 23,562 23,562
274 | — Mk | Ok [(EREETRR S R ARV SRR L= 100 W=4.0 ggﬁ 0 0 0 0 12,600
275 | —f% | B IR E S TR/ NK L=60 W=5.0 ggﬁ 0 0 0 4,185 4,185
276 | —fk | Bk [(ERETR KR FE W L= 750 W=5.0 ggﬁ 0 0 14,570 38,127 68,870
277 | —fk | ok [(ERATR G R FE FREEAHR L= 950 W=5.0 ggﬁ 0 0 0 8,645 8,645
278 | — | B |ERETRR RS KHMR L.=650 W=4.0 ggﬁ 0 0 0 4,200 4,200
279 [ —fk | ik [t e L (ORATHR SR =55 W=4.0 ggﬁ 0 0 0 15,060 15,060
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280 | —fk | MO [ATEAQIE AN AR FZE X ASZEEN 1ED ggﬁ 21,184 0 0 0 0 21,184
281 [ —fk | S [(ERETRG R FE R L= 100 W= 4.0 ggﬁ 0 0 0 6,540 12,900 19,440
282 [ —fik | Hik [ERETRG R FE HIRAREM FER2A) L= 400 W=5.0~8.0 ggﬁ 0 10,000 24,266 57,200 39,100| 130,566
283 [ —fk | Hk [(ERETRE R FE HAHR L= 400 W=17.0 ggﬁ 0 0 0 16,976 19,100 36,076
284 [ —f | Hi [(ERETR G R FE WERER1LET) |L=1,260 W=5.0 ggﬁ 0 0 0 19,950 18,668 38,618
285 | —f% | Ak E)ﬁg%ﬁﬂﬁﬁ$% AR IR (i 1.=1,300 W=5.0 ggﬁ 0 0 0 0 7,820 7,820
286 | FrRll | B |G KB A TE S B X ggﬁ 0 0 6,720| 117,418  146,351| 270,489
287 [ —fik | Sk [(ERETRR G R FE I ER L= 550 W= 4.0 ggﬁ 0 0 3,413 0 3,700 7,113
288 [ —fik | Hk [(EBETR G R FE HSER L= 520 W=4.0 ggﬁ 0 0 12,600 38,400 14,031 65,031
289 [ —fik | Hyl [THATHE BRI S 2 T Kb L= 120 W=4.0 ggﬁ 0 0 4,186 29,950 0 34,136
290 [ —f% | Bk [EEETR G R FE (L 1.=2,260 W= 7.0 ggﬁ 59,727 0 0 0 0 59,727
291 | —M% | HOOR [FOTTNEEERGEE R SR A T =Aa— b gEIEH g;ﬁf 23,343 4,074 1,268 968 3,969 33,622
292 | —% | A |E RGBS A S AU ggﬁ 46,047 34,156 21,550 14,600 8,720 125,073
293 [ —fk | ik [(EBATR G R FE FILTE AR L= 600 W=4.0 ggﬁ 0 0 0 0 6,825 6,825
294 | FERI | B | A TFAKETE RS R SH X 15252 5ha ggﬁ 356,435 285,540 116,965  138,898|  130,275| 1,028,113

7 24 ey S SYf7

295 | —f% | Ak %fgfmg%% PLODLHLI B F ggﬁ 0 0 0 0 2,135 2,135
296 [ —fik | A [T AR EE  HOR A EE AR MR G B - &k ggﬁ 0 0 0 4,363 11,550 15,913
297 | Bl | B (S AERE G IEIR 2 HORMTIR X ggﬁ 0 0 0 0 4,889 4,889
298 | —fk | R0 [(EREFRGRFE HER L= 2,200 W=5.0 g;ﬁf 86,612 80,036 80,000 30,000 22,000] 298,648
299 | —f% | HAn ERETRR RS AR EIRRR L= 900 W=5.0 ggﬁ 0 4,020 25,700 21,400 0 51,120
300 [ —f% | AFn [EERITERGREE (CEER L= 420 W=5.0 ggﬁ 30,648 19,267 0 0 0 49,915
01| —M | AFn [HEETEEHEE Dfhde 1y 510 ggﬁ 56,613 33,419 35,400 26,164 26,580 178,176
302 [ —f% | N ERPTRR SR EE KEHR L= 800 W=5.0 ggﬁ 0 0 0 4,137 4,100 8,237
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303 | —#% EREFTRG R EE O SR L= 380 W=5.0 ggﬁ 0 0 4,881 24,200 39,081
304 | —#% ERPTRR R EE EEs (L R) L= 600 W= 5.0 ggﬁ 0 0 0 30,200 38,312
305 | —#% BB R EE AR L= 900 W=5.0 ggﬁ 40,072 10,266 7,700 0 61,438
306 | —#% EREEHFEARES DX ggﬁ 3,483 5,720 4,900 1,180 17,303
307 | —#% BRI R SRR L=1,500 W= 5.0 ggﬁ 50,100 90,062 90,000 41,400 314,562
308 | —fik %ﬂkﬁ%ﬁ RER A BRI O 02, — 500 = 5.0 FRBEATIE D ggﬁ 0 0 0 2,237 2,237
309 | —i 2@?{ TR EE T OMEES T A gg 29,655 93,149 0 0 45,804
310 | Rl S KBRS X FESIKIFEUK T3 ggﬁ 9,597 12,929 0 0 22,526
311 | #ER1 SRR PRI E R )X ERFHC 1117 A0 400 A ggﬁ 0 55,496 187,837 187,845| 643,418
312 | #5H1 ’§%§é{%5k7j‘m”m{r A T B 44275 A0 1,660 A ggﬁ 370,237 81,776 0 0] 452,013
313 | —#% BTG R L BRI R L=1,600 W=5.0~8.0 ggﬁ 28,974 33,044 25,700 25,900 130,518
34| —f SREFRIEIEFE S HX ggﬁ 0 0 0 21,420 21,420
315 | —#% ERHRW R EE FREFEHRAR L= 500 W=5.0 ggﬁ 0 0 0 9,464 9,464
316 | —fi% BT G R LR L= 740 W=5.0~17.0 ggﬁ 65,671 40,007 30,000 41,800| 196,678
37| —#% EREFTRG R EE BREMT L= 200 W=6.5~9.0 ggﬁ 32,600 31,097 0 0 63,697
318 | —% EHHTRRG R EE R L=1,700 W= 5.0 ggﬁ 20,000 7,454 22,000 23,200 84,654
319 | —f% EREFTRR R EE T EE R L= 920 W=5.0~8.0 ggﬁ 6,986 16,830 11,800 15,700 60,416
320 | —#% ERFTRG R EE HIFEARR L= 420 W=5.0~6.5 ggﬁ 65,100 0 0 0 65,100
321 —m% EREEHFEARES S X ggﬁ 4,923 780 4,260 2,440 14,353
322 | Fehl S KERA M EE X ggﬁ 0 0 0 3,572 3,572
323 | —#% BT O R FEEE A0 R (BAh) L=2,000 W=5.0~10.0 ggﬁ 100,040 51,447 39,775 15,800 224,462
324 | —#% BB R EE TEILHR L=2,000 W=6.5~10.0 ggﬁ 90,000 39,264 35,600 5,250| 189,314
325 —#% EREHTRR R AAREHR L=1,500 W= 5.0 ggﬁ 80,000 80,000 80,000 0| 313,800
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326 | —A% | LbFn EREETRR R RO (B2f4)  |L=3,000 W=10.0 ggﬁ 210,000 70,000 0 0 0] 280,000
327 | —M% | HoFn |ERGERR A S HofnHX ggﬁ 24,933 10,000 5,370 5,750 1,000 47,053
328 | —fk | tFn fﬁ%ﬁﬁﬁﬁ$% BOHIIR R _ 600 w=7.0 %fi 0 0 6,825 0 4,760 11,585
329 | —fix | ELAD |BREEMEFE A a—& 1 —FRE ggﬁ 0 0 18,182 0 0 18,182
330 | —A% | EbFn ERRBH K REIRFZ B4 L=100 H=30 ggﬁ 0 0 0 0 28,800 28,800
331 HeBl | ELFn [N IE TR MR B H X MR G B - ik ggﬁ 0 0 0 0 7,763 7,763
332 | —Mk | MG [AETE @ SRR ABY FE FREH ggﬁ 6,802 0 0 0 0 6,802
333 —A% | RBE [ ERTR G REE BIGE/NESR L= 80 W=5.0 ggﬁ 0 18,324 0 0 0 18,324
334 —A% | RGE ERETRR R EE ILFER 1.=2,200 W= 5.0 ggﬁ 99,000 97,323 104,700 80,300| 142,788 524,111
335 | —M% | MAGE [EMRHTRGRFEE LR L= 700 W=5.0 ggﬁ 0 0 0 7,329 22,080 29,409
336 | —Mk | MAGH [ERFTRGREE ER L= 170 W=4.0 ggﬁ 21,831 0 0 0 0 21,831
3BT —A% | WHE [ ERITR G REE HER L.=1,000 W= 5.0 ggﬁ 17,220 17,335 15,600 33,600 64,900| 148,655
338 | —f% | M |7 — AU~ AR EE R - RO - R R ggﬁ 0 29,977 0 0 0 29,977
339 | —Mk | MG [EMHTRGRFEE L LEER L= 100 W=5.0 ggﬁ 0 0 0 4,800 0 4,800
340 | —i% | MfE |ERGERR R AHES REX ggﬁ 4,000 2,710 3,250 730 250 10,940
341 | kBl | FafH | A T AMIRME F B FE R MR G B - ik ggﬁ 0 0 0 0 12,695 12,695
342 | —f | Atk (FEHEE AT AT KR A A —f% 0 0 0 0 1,167 1,167
343 | —f | Ak RS R GITEGRIEME (i 2 5R) HimF 3 g;ﬁf 0 0 23,680 0 0 23,680
344 | —i | ANk |HEIHE R R R A S i RN - VE B MR T 2 S AR 13 ggﬁ 14,466 31,632 0 57,403 113,670 217,171
345 | —fx | Ak [fEEE- OO HEESRZE JEIRT R Bt R — i 0 0 0 3,796 810 4,606
346 | —A% | Atk |BHA0ME R BT 3% & A B ggﬁ 600 500 400 500 450 2,450
AT x| el TR g ggﬁ 4,443 4,524 1,376 8,668 3,834 22,845
348 | —Mx | Atk (B KSR {4 B 3 2 ggﬁ 400 398 320 154 157 1,429
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349 | —f% | Atk |[AETE R MR FHR H A — % 0 2,415 2,400 2,400 2,400 9,615
350 [ —ix | 4l (Sl et a B g H—=RL—En ggﬁ 8,192 10,741 7,425 20,240 13,308 59,906
351 —A% | Ak |[VHEE MRS — % 437 669 412 758 798 3,074
352 | M | s | PRI VB M AR I (g By fR - B TS EIAR ggﬁ 0 0 0 0 29,285 29,285
363 | —M% | Atk |BHA0ME AR BIAL A AT s A4 ggﬁ 0 0 0 0 13,900 13,900
354 | —fx | B WEBI AL B R R ggﬁ 1,252 0 0 0 0 1,252
355 [ —x | FEJR [/NBUA AR ME (RS M X ggﬁ 13,300 7,000 11,900 11,300 16,922 60,422
356 | —x | IR [SMERATER R FEEAE S TREMX |9 #X ggﬁ 2,250 2,130 1,450 1,845 0 7,675
357 | — M | IR [FEERTEB R 2 TR X /NIRRT R R ggﬁ 11,485 11,382 11,403 23,777 0 58,047
368 | —M% | FEJR B SMERR IR R X K Bset AR 71 ED ggﬁ 0 0 0 0 4,599 4,599
359 [ —M% | P | SMERHH AR IR B A A FERMIX | A X — 2R E A ggﬁ 7,800 3,870 3,550 1,650 2,650 19,520
360 [ —fx | Py [/NBAAR IS (RS2 TEI X ggﬁ 9,700 13,900 4,000 3,400 10,162 41,162
361 | —M% | B |BHAOKE R AU X 40tf% ggﬁ 16,894 17,693 15,065 20,307 9,415 79,374
362 | —% | AU [/NBA AR (RS AU X ggﬁ 9,200 14,500 3,050 2,700 10,951 40,401
363 | —M% | B | FEE IR A X /NIRRT R R ggﬁ 1,145 5,478 1,250 4,983 6,734 19,590
364 | —x | AU [THBFRETITE S EE AU X ggﬁ 10,805 0 0 9,715 7,032 27,552
365 | —M% | AFn [P SMERR IR DX ggﬁ 0 0 0 0 16,365 16,365
366 | —Mx | AFn [BISATBUER IR 2 DX | ROV RRR EE) ggﬁ 2,940 3,098 0 1,733 0 7,771
367 | —M | BFn [FEERTEP R DX /NIRRT R R ggﬁ 6,195 5,275 6,269 0 6,930 24,669
368 | —M% | PFn (BRI R nFnX 40tf% ggﬁ 0 0 4,371 0 4,678 9,049
369 | —Mx | AFn |[SMERHIAERREEAHS DX |'EATISHIKIE) ggﬁ 6,300 0 0 0 0 6,300
370 [ —fx | AT /BRI IRF2E AN X ggﬁ 5,000 0 0 0 0 5,000
3L — M | & [JEERTEP R R 2w INBUEY )R AR ggﬁ 4,647 0 0 6,605 0 11,252
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32| —ix | mEF [/NBUARE M IR S ERMX ggﬁ 0 2,100 2,300 0 0 4,400
33| —M% | mEF |SMERH A R B A S &K ggﬁ 0 0 0 155 0 155
34| —M% | EoFn [JEEARTEBI R 2 X INBUEY 7R AR ggﬁ 0 6,000 6,219 6,232 0 18,451
375 —x | EeFn [/NBUEAR IS IR d 2 ELFn X ggﬁ 3,775 3,500 2,350 2,800 5,114 17,539
376 | —ix | MEE [/NBUEAR IS (RS G ggﬁ 0 0 1,600 4,963 0 6,563
3T —M% | MRBE |BHOKAE R 3E FRfE X 40tf% ggﬁ 0 0 0 0 4,484 4,484
378 | —Mk | MG [JEERTEBI R 2 X INBUEY 7R AR gﬁi 0 0 0 0 7,124 7,124
QB)BRLOELETELLIBCEL(RE-E8-FF) /it 5443915 4630345 3,103794| 3297,476| 3805890 20,389,098
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379 | — % | & |77V —P R —hEE — 3,537 3,437 1,225 1,559 1,135 10,893
380 | —fik | &I | FE AR A — % 11,988 13,504 22,4217 25,576 25,790 99,285
381 | — M | &I [Fr AV —MEAB RS — % 253 276 389 368 394 1,680
382 | i | Atk |MERIE TR E R — % 24,085 25,840 26,508 30,170 39,603| 146,206
383 —ix |tk [HPES e — % 62,100 55,168 57,871 50,803 62,503 288,445
384 | —f | Ak R AR R FEJR - = AT - B -\ - AR - VR BT ggﬁ 0 0 0 0 8,415 8,415
385 | —fik | A |PRE T B M ER A P - ggﬁ 0 0 0 12,203 0 12,203
386 | —Mk | Ak [REmALERR ARE I I LR B - =T 2R ggﬁ 0 0 0 0 28,459 28,459
387 | —M | Ak [ 7B R — RS ia g — 0 0 0 0 19,686 19,686
388 —x | HEJR %iﬁééﬁi%&%ﬁ$% IR/ g%ﬁf 10,483 0 0 0 13,769 24,252
389 | —f% | FES | EBALAE R R R S OB E T B RE7,4650f PRFE 8200t ggﬁ 124,140 289,837 0 0 0| 413,977
390 [ —Ax | IR | EEALERE REE SRERT LSRR A - b AL S ggﬁ 0 0 0 7,733 0 7,733
391 | —Mx | FEJR | B E R R KRR ggﬁ 0 0 0 861 15,380 16,241
302 | i | R |V im b R = RiRETHE e 0 0 of 21,159 of 21,159
393 | —i% | EIR | REEA GRS SRR RE T M ER A PR - ggﬁ 0 0 0 8,700 0 8,700
394 | —x | IR | EEALERE SRR R e M ER A PR - ggﬁ 0 0 0 6,531 6,464 12,995
395 | —A% | PEYk | EEALERE IR PE % - e ggﬁ 0 0 0 2,957 0 2,957
396 | —i% | Bk |REEAG RIS BRRE T RC2P&#E1.609 nf g%ﬁf 437,473 0 0 0 0| 437,473
397 | —i% | Bk |REEA R RS Bk R AR g%ﬁf 369 96,216 0 5,454 0| 102,039
398 | —i% | A %Eéﬁfgjgggﬁﬁ?if NI ggﬁ 0 0 0 0 11,010 11,010
399 [ —% | Ak | EEALIERE IR AU M M ER A PR - ggﬁ 0 0 0 0 6,464 6,464
400 [ —f | Hbk VAR AE Al IR i AR Tk i ggﬁ 0 0 0 0 1,317 1,317
101 —iz | #E%?E*M@%&%fi?% HEVLLE TR giﬁ 0 0 0 5.009 0 5.009
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402 | —f% | @ | REEAEREEEE TRRET MR G BRUE (R /K% ) ggﬁ 0 0 0 2,096 0 2,096

= A ET T AL

203 | —i | s %;?Ba*ﬁﬁmuxéﬁ%% TRRE M KRR LR gg 0 0 0 0 3.889 3.889
404 | —fk | &l [TEEM#E SR 2 — e R — 44,825 41,000 0 0 0 85,825
405 | —fk | 4k [Seiesrali SR STRE - AR S 3 —f% 20,469 14,261 14,589 11,020 11,460 71,799
406 | —fik | 4tk [edmE A E S KKIEFHFR - 7 AR —AIED> — i 48,012 25,602 31,932 30,360 31,171 167,077
407 | —i% | A [ATE R SR T R 5 I X - R A b X — % 13,543 6,310 0 0 0 19,853
408 | —fi | 4k ﬁﬁ?fgﬁg/fgﬁ%% ehlkE — % 0 0 0 89,428 0 89,428
409 | FrRll | I |l MU SR NHTBAED —h% 0 0 94,209|  128,864| 135,365 358,438
410 | —f | I | TR BB L AEEPOEITIED — i 56,219 11,935 0 0 0 68,154
411 [ —f | Andsl [ dim AR S5 AR Vs ST AR ATV T —RiE ggﬁ 0 0 0 0 409 409
412 | —f% | oD | nfnE AMEdke 2 —E BRE RIS ggﬁ 0 0 0 0 16,211 16,211
413 | — i | W | S E R IE B SR | R R AR — SRR R B AR — % 0 10,000 0 0 0 10,000
414 [ —f | Al PRt oy SR g A FIT 52 P it 5 A Bl R —h% 0 0 23,794 21,862 15,907 61,563
415 [ —fk | Ak (B iRPE s B TE B a2 SN T AV —ERIED —f% 7,557 55,415 0 0 0 62,972
416 | —f | Aol By P8 A vE SciE 2 BPEBh A A EAG A - RE ka7 —1F — i 27,048 10,150 0 0 0 37,198
417 [ —f | Ak (PR B Sr s fEHEY —E XD I — i 0 0] 419,634 454,513  505,925| 1,380,072
418 | —fk | I |FEEE B BPEBDAIE —h% 0 0 18,068 6,322 6,714 31,104
419 | —i% | &k [EEEEEFE PEEE 23D — i 0 0 32,076 34,110 38,655| 104,841
420 [ —fk | Ak OB BB kI I A B 2 — % 13,550 15,025 0 0 0 28,575
421 [ —f | Ak [RsphBE R mh o e A B 2 — % 5,299 6,210 0 0 0 11,509
422 | —f% | I AR EE TR R INFUARAR PE - HUIS AR VR R B 20 — i 35,396 0 0 0 0 35,396
423 [ —f | Aol (PRsE sl AR v SR 2 TS B ST E D —h% 0 0 33,471 47,997 64,098 145,566
424 | —fx | FER ARt 2 — B X ggﬁ 260 14,342 0 0 0 14,602
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425 | —fik | Adk [fEEEEEEZE —f% 0 0 0 32,492 38,515 71,007
426 | FrRll | A | FEEIRGERR S S —f% 0 0 0 2,704 607 3,311
427 —i | Ak [ R IRiEEZE Wb« FLSH RS — 14,716 13,472 14,972 13,938 23,444 80,542
428 | —fik | Al [ A IRiEFZE ENGEHEZ S —fi% 95,388 80,055 74,886 0 0] 250,329
429 [ —fik | Aol [AEVEEIER R 2 A EE LR O AR HEE 3 — 0 0 0 0 3,927 3,927
430 | —fk | AU %fi?ﬁﬁgig{ﬁ%% FERIYTLY e 7 i ggﬁ 0 0 0 0 16,800 16,800
431 —i% | S8 [fEEE TR S ToI ORISR Z WO Y5 B ggﬁ 0 0 0 0 7,389 7,389
432 | —fk | teFn %ﬁgﬁgg@ﬁﬁﬁ%% SRR HiFIE ggﬁ 0 0 0 0 2,083 2,083
433 [ —fk | Al |BRRER SR TEIRAR TR PR NBLSI R 3% — i 0 0 0 28,517 72,751 101,268
434 | —fik | Ak [BomE e mih 2 FEIR AR "FIm e - vh i BRR e — 33,621 32,884 32,952 32,881 32,966 165,304
435 [ —fk | Al [~EHUE R G R B2y— — i 9,107 2,846 2,136 1,930 1,672 17,691
436 | —fix | 4 |FLSh R IEMRE LR B R 3 — 16,890 16,978 24,281 17,175 28,651 103,975
437 —i% | Ak [tk B R2REE — % 2,086 2,072 2,146 2,146 2,116 10,566
438 | —fik | Aok [HblselE e R SR 32 ARA-"FIR BT RERE 2 e O —f% 0 0 0 0 45,602 45,602
439 [ —f% | IR [EEAR TRl s e D2 — 47,662 49,543 48,891 48,522 47,095 241,713
440 [ —f% | IR (EFEREE R EE TBRRHTIRE [T OZAXRT LY XRT A7 T7 40 A ggﬁ 0 0 0 0 75,000 75,000
441 | A2E | v v R IE R 3 2 ggﬁ 26,848 16,786 59,554 16,659 89,590 209,437
442 [ —f | B0 (EFREZEE SR EE DOMERZENT (VRSN AT AT UV XER B2 W AT L ggﬁ 0 0 0 0 7,274 7,274
443 | —f | DAD |ERI R E KRS AR T T UV XMR BT WS AT L ANEA ggﬁ 0 0 0 0 6,528 6,528
444 [ —f | @8 (EREREE SR EE Sl RER2EN |V T LN Y AT DR ggﬁ 0 0 0 0 7,319 7,319
445 | —fk | mEF |EREREE IR EE EE 2T BAHNT LU NPV AT N ggﬁ 0 0 0 0 3,150 3,150
446 | FrRll | @B |2 EE S i PR RS AT ggﬁ 0 0 0 0 2,614 2,614
447 | KR | FesE [2RITRIR R sEHX AR BB R R T ggﬁ 0 0 0 7,543 0 7,543
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448 | Rl | FRGE (AR R R R T WA TIVT - ERR2TS AT S ggﬁ 0 0 0 0 6,458 6,458
449 | ¥Rl | #esH [2RITRIHEFE ReEHX T RE E R 2R AT gﬁi 0 0 0 0 6,595 6,595
ADEHROREOYTHAECEL(RE-F-E&) /I 1,192924| 909,164 1036011| 1,210,162 1598339 5946600
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(5) 5H3LAE T 50 TADKECED (FF - 3Ub)

A=

kil E;;[ . bk A Al TR E R TRISEERM ﬂifefiﬁ T 20 E M| TH2 EERE ait

450 | —fi | A [N RO S TR AR SR AR | SR - O S ggﬁ 0 0 0 500 0 500
451 [ —fik | Atk &% s im i B 9 — % 4,785 4,774 3,540 0 0 13,099
452 [ —fk | At [/ VAR SE /N WLFRT ARANRE T H ggﬁ 0 0 0 633 34,089 34,722
453 [ —fk | At /)P ot i s R A i 2 it 5 et L8 ggﬁ 0 0 40,629 96,346 77,479 214,454
454 | —i% | 2l | ERE RS TR ggﬁ 0 0 0 329 8,721 9,050
455 [ —fik | 4tk /)emt REpEE A B 42 — % 907 979 1,079 974 1,004 4,943
456 | —fi% | 4tk [/Rem epEE SR de e ARG — LS ATELTIED — % 61,265 60,300 51,789 112,268  109,474| 395,096
457 [ —fik | Atk [P im epEE SR de e ARG — LS ATELTIED — % 7,363 7,093 6,789 7,140 7,113 35,498
458 | —M% | i |SMEREBCEHEEE — % 31,696 29,180 20,930 15,344 15,286 112,436
459 | —fik | I | BE AT B — % 1,202 1,077 1,238 1,222 2,015 6,754
460 | —f% | Atk | it BEE W A A B AN ST o BTl il — 40,341 36,610 36,504 32,562 27,603 173,620
461 | —i% | &I PRFSEEE — % 17,811 27,686 38,348 39,284 41,465| 164,594
162 | it | Ak | PR R s seontELL, BEIRIURAL 6L L, 77k | T 0 0 0 of |
463 | —M% | &3 |H BT U2V kR R AN ggﬁ 0 0 0 0 7,875 7,875
464 | —M% | I8 | NFRER ORBE: 36 S i e i 2 2 ggﬁ 0 0 0 0 24,056 24,056
465 | —M% | I | TR IR IG5 3 A HE A = 3 ggﬁ 0 0 0 0 6,804 6,804
466 | —fik | 4tk [/NFERCERRN R B R A ggﬁ 0 0 0 0 15,510 15,510
467 | —M% | I | B B ggﬁ 0 0 0 0 9,161 9,161
468 | —fik | IR [/INVFEReES2E R MIX BN R R AR . - K ek g%ﬁf 4,589 0] 104,147 0 0| 108,736
469 | —f% | IR AR R AR X FEJFNFARED g%ﬁf 9,745 0 0 0 0 9,745
470 | —f% | IR [V hER T — VR R R HNERIAFED g%ﬁf 4,165 0 0 0 2,528 6,693
471 —®% | FER AR R LR A i 9 TR X g%ﬁf 1,785| 415,206 0 0 0| 416,991
472 | —f& | EIR [FReha MR i 2 R X ggﬁ 2,867 0 0 0 0 2,867
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473 | —f% | FER VRS EREEE TR X ggﬁ 0 0 0 13,351 3,103 16,454
474 [ —fk | IR [P iR TR e ggﬁ 0 0 0 5,324 0 5,324
475 | —f% | FER VRS BREESE TR X TN TR AR - B A S ggﬁ 0 0 0 0 26,010 26,010
476 | —f% | FEJR PNVERAE B E TR X ggﬁ 0 0 0 3,391 6,569 9,960
477 | — M | FER VRS BREEE TR X ggﬁ 0 0 0 0 8,187 8,187
478 | —f% | FEJR PNVERAE B SE TR X ggﬁ 0 0 0 0 3,885 3,885
479 | —f% | FER PNVERAE B SE TR X ggﬁ 0 0 0 11,145 7,422 18,567
480 | —M% | PESL | PG B ILF BRI FEHX. |A= 430nt ggﬁ 0 1,292 226,641 0 0] 227,933
481 —fk | MOk AR E A SR E Tt X FE BN TR ggﬁ 4,400 0 0 0 0 4,400
482 | —fk | PEIR [/ R Fh BN A RRGUE ggﬁ 0 0 0 0 7,674 7,674
483 [ —fk | Hk [P B U ggﬁ 0 0 0 788 21,340 22,128
484 | —fk | A |ER AR BRI N SR E AU AR 198t (BEG% 125t - BE4L73nf) ggﬁ 28,945 0 0 0 0 28,945
485 | —fk | AR | AR SEE AT AR BRI ggﬁ 3,726 99,322 0 0 0] 103,048
486 | —fk | HO [/INBURT Hh SR L e SR 2 B IS HE LIRS - AR TR B ggﬁ 0 0 0 4,260 0 4,260
487 | —Mk | A [N R EEE IR Wy - R RRE R 4 ggﬁ 0 0 0 0 26,480 26,480
488 | —k | MO [N T — B R LXK INIUR] /N — L B ggﬁ 0 0 0 5,691 4,113 9,804
489 | —fk | AR AR A S E AU WO A AR E D ggﬁ 10,874 0 0 0 0 10,874
490 | —M% | B | R S AR (KRB R - BE IG5 s ggﬁ 0 0 0 0 11,880 11,880
491 | —f% | B |BNETEE B R X AN R AR S ggﬁ 0 0 0 0 3,291 3,291
492 [ —f | BFn [P R DR ggﬁ 31,794 0 0 0 0 31,794
493 | —f | AN PNV — VIR DX ggﬁ 0 0 0 0 8,041 8,041
494 | —f& | =¥ |TEREHEE SR [ R TS B v S5 AR o B L A AR e ggﬁ 5,985 0 0 0 14,900 20,885
495 | —f% | =¥ |FRAa R IR E X ggﬁ 0 924 114,995 0 0] 115,919
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496 | —i% | =% |TEREHEE SR M LEEA 56t ggﬁ 0 26,702 0 0 0 26,702
497 | —k | A NVERENEEG R R E X ggﬁ 0 0 2,905 3,425 195,649 201,979
498 | —fk | MEE | AR E REETER KR (VT 7 —) Yl ggﬁ 81,425 0 0 0 0 81,425
199 | i | fota |pRemEME I WX R e 3,875 0 0 0 of 3875
500 | —% | fE | Ry — LR REEf . ARE X 3B ggﬁ 0 0 0 14,018 0 14,018
501 | —k | MM [P R R G P EE R gEt VR 3 PN ggﬁ 0 0 0 0 2,410 2,410
502 | —HE [k |/ B e e ggﬁ 0 0 of 38102| 21,260 59,362
503 | —x | 4tel | IR WAL RS BRRERE ~ D B IR —fi% 0 0 0 263 212 475
504 | —Mk | Ak |58 s R OTE IS —f& 0 0 0 707 945 1,652
505 | —A% | s | PRA KRR FINE g 2 AR R (B INFR) g;ﬁf 0 0 0 4,125 0 4,125
506 [ —ix | 4t | BNy DB LTS — i 0 0 0 1,306 1,211 2,517
507 | —x | Ak [ AREFE — % 1,582 1,385 1,313 1,250 1,066 6,596
508 | —fk | 4k [HR&HEE FF¥E — % 5,440 83 1,787 1,665 0 8,975
509 [ —f% | Atk [HaBETEEE ¥ BUR AR IS S 2 — % 4,016 1,247 828 1,737 8,273 16,101
510 [ —f% | &tk [fEV o iV D FEL-S3KEH (i — % 825 783 627 627 627 3,489
511 —f% | &k |[feiEd DBk —f% 0 0 0 253 465 718
512 | —f% | Ak | -7 22 v ikt oR NRAE ggﬁ 0 0 0 0 891 891
513 —iix | FEJR AR fo A RAE EBHEITD ggﬁ 1,334 2,594 0 0 0 3,928
514 | —fx | FEJR ggéﬁ@qﬂ%/ﬁaﬁﬁéﬁ%% IR & LK T2 - R 2 W e ggﬁ 1,748 2,121 2,085 0 15,859 21,813
515 [ —fix | FEJR |HESUbe 7 — B2 V7L aTH ggﬁ 4,074 0 0 0 0 4,074
516 | —ix | FEJR |HESUb 7 — Bl ggﬁ 0 0 0 0 11,723 11,723
517 | —Mk | VEIR [Vh gy RAEHE R 2 72 R M FR AE A ggﬁ 0 0 0 0 13,172 13,172
518 —iix | mEF | ARAE(HHE &EFHIX ggﬁ 0 0 0 0 8,940 8,940
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519 | —fi% A SRR RS bt 0 0 0 0 2,993 2,993
520 [ —f% | MfE | Uk fRiEfE R REES (bR AL REEERE T 0 0 0 0 8,386 8,386
521 | —f% i e AR R S 2 0 0 0 1,322 440 1,762
522 | —f% G BT YA R Fa B S B B A 0 0 0 0 11,233 11,233
523 | —#% U R A B g IHSF - 2 A - 2 i S 0 0 0 946 5,065 6,011
524 | —fik ; Eg;ﬁw@gﬂﬁﬁ CEES T ggﬁ 0 0 0 0 1,890 1,890
525 | —fik ; ﬁ%gg?éﬁﬁ%{ﬁ$%ﬁﬁm@@ﬁ% = ggﬁ 0 0 0 0 83,320 83,320
526 | —#% T RHEE R R DX ggﬁ 0 0 0 0 2,129 2,129
527 | —#% FEFD B SRF S I R B i 2 53 B ggﬁ 0 0 0 0 605 605
528 | —fi% HE U LR RARREE BIREH 192nd ggﬁ 0 15,840 23,660 0 0 39,500
529 | —fk | Ak |KEAR— VIR FREAR— — ik 10,989 11,819 8,333 7,814 7,404 46,359
530 | —#% U |BAMAE MR R EEAS ggﬁ 116,965 136,445 0 0 0] 253,410
531 —#% U |BNRE IR EE ROIREE ggﬁ 0 0 0 0 12,028 12,028
532 | —#% | BAMAE R R T=Aa—] ANTLZ PRy Mg ggﬁ 0 0 0 0 20,961 20,961
533 | —#% | |BNRE R VIR E R B KRGS - TV —F T T REHE ggﬁ 0 19,635 0 0 0 19,635
534 | —fi% i |EAMAE AR VEIREREL S ggﬁ 0 0 0 0 4,901 4,901
535 | —fi% | |BAMA B R R T FEAR—YRY |7 = A I ggﬁ 0 0 3,497 0 0 3,497
536 | —fi% i | ERAMASE Hi ER E fi E 2E (CEREBR ) ggﬁ 0 0 0 0 2,553 2,553
537 | —#% WA EE ARG E DA IR HOR R ggﬁ 0 0 0 5,202 0 5,202
538 | —fi% BIMEEERIEMFE S AR—Y LY AT — ggﬁ 0 0 45,523 0 0 45,523
539 | — Mk | & |BNIEREREREMEE S KB 450 ot ggﬁ 0 0 0 5,521 0 5,521
540 | —fi% BAMEEREMEE SR ARV IS ggﬁ 0 0 0 0 7,152 7,152
541 | —f% | AR—Y AREEHFE BiEX ggﬁ 7,243 0 0 0 0 7,243
542 | —f% 1 [AR =V R EEEE R ggﬁ 0 0 0 0 3,360 3,360
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543 | —f% | MfEH |BNEE RIS RIEEREEE i 5 2 W e ggﬁ 0 0 0 0 2,528 2,528
544 | —M% | Atk (EBRAAFR A iR 32 — % 1,347 1,179 6,145 311 3,109 12,091
545 | —M% | Al [RATHES T AZ RS — % 1,716 1,691 878 816 1,298 6,399
546 | —fi% | i |ERRR S — % 3,784 3,622 3,469 3,475 2,930 17,280
BAT | — i | 4t | i) S iAo~ Ml B —% 7,200 200 0 0 0 7,400
548 | —M | LFn [WlikBAE A HRIE Eh A B 2 — % 680 650 300 300 200 2,130
(5) 5:2&LEBTHDTANECEL(EHET-3XE) /Mt 528488  910439| 747,979  443737| 1,018,141| 3648784
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(6) R T 2y =7k

= E;;[ FRE FRAE B errerza[Fresan ﬂifefiﬁ e e I
549 | —f% | 4tk [RE A A~ 2 RS Rt 2 7T MR AR B 42 ggﬁ 0 0 0] 314,200 147,838 462,038
550 | —f% | addh [REAA~ 2 RIS R 2 ALy MU R R i ggﬁ 0 0 0 of 218,795 218,795
551 | —f% | 4tk [AREAA~ 2 FIE R 2 RIS AT DEEL ggﬁ 0 0 0 0 64,193 64,193
552 | —k | Atk [ARESAA~AFE AR ALy A= RAT— [ AHHB) — % 0 0 0 1,740 1,680 3,420
553 | —f% | 4tk [AREAA~ 2 FIE R 2 Ny RAT— Sy MEG R A ggﬁ 0 0 0 0 2,206 2,206
554 | —fi% | 4tk [AREA A~ RS R 2 DR AR MR S—7 e ggﬁ 0 0 46,429 9,717 0 56,146
555 | —f% | 4tk [AREAA~ 2 RIS R 2 SIS g ggﬁ 0 0 18,130 0 0 18,130
556 | —fik | 4 SRR TR HIEATAHED — 0 92 90 104 103 389
i | Ak | AT R R T e 0 0 0 0 0 0
557 | —i | ok ;%5&@1@% ST ] 5 R0 A8 A i 0 0 0 400 0 400
558 | —fik | 4k %ﬁ;ﬁ@m$¥ ARk s ggﬁ 0 5,231 8,884 1,750 0 15,865
559 | —fik | A |FRE A STIRBUFE REREEHEE — % 0 508 240 379 400 1,527
560 | —f% | gk [ 3SR I o 3 — % 0 0 12,240 12,000 10,836 35,076
561 | —fik | 4 |22 TE FeEhiBh %2 3 0 0 2,224 2,511 2,000 6,735
562 | —f% | 4tk Rk | BUGIREL ey =2k — & 0 0 0 9,079 23,532 32,611
563 | —f% | 4tk [Tt 5 S - S i g — 0 0 0 0 567 567
564 | —fix P BT — I VR mEr X gﬁ 0 0 0 0 11,337 11,337
B)EREKRIOT I NGt 0 5,831 88237| 351880 483487| 929435
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